Chemistry 3331-100
Organic ChemistnyDr. Barney Ellison
Final Ex(;w\'nahﬁﬁ\ onday, 15.X1197 from 11:30 am to 2.30 prm in Chem 140

Name: K fin {please print)
To double chec cl,ords please list the scores of each of vour hour exams?
I 2 3

1. {10 pts) Laetril is a glveoside. When it undergoes acidic hydrolysis, IHHON is produced.
Suggest a mechatism?
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2. (10 prs) Dr-Altrosan is converted inte D-altrose by Hy0O"; what is the mechanism?
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1, (20 pts) Write the Fischer projection lormula of the open chain form of cach of the

Following
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4., {10 pts) What is the product of the Claisen rearrangement of C;H-0-CH,)CH=CHET, ?
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5. {20 pts) Carry out the following transformations.

a ANV ow = A,

NI T
7 o
& A
_ ~ T et
/\/I"[.\Dj‘:_, - L‘L‘J “11/” ke
- 3
| Sal

\ kolt MNHL



1214097



-7- 12714497

6. {20 pta) Carry out the following transformations

a) CiHy = meta-bromophencl
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7. (20 pts) Give the structure of the principal organic produet of each
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%, (10 pts) When 1, 1-diphenylacetone and dimethyl-1,2-benzene dicarboxylate are heated
with base, diphenadione is formed What is the mechanism”
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%, (10 pts) When 1, 1-diphenylacetone and dimethyl-1,2-benzene dicarboxylate are heated
with base, diphenadione is formed What is the mechanism”
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9, (20 pts) Using toluene s the ultimate source of all the carbon, show how o prepare:
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10. {10 pts) When compound A is heated in dilute HCY, 1t is converted to a consntutional
isomer, B, Whar is BT How iz it formed?
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11. {20 pts) Propuse methods to carry out the following conversions.
a) CH,CH,CH=C1T, — CH,CH,CH,COuH
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G} CH,CHO — CH,CH,CH;CO,IL
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12. (10 pts) Consider the ketones pipentone, menthone, and isomethone.
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a) What is the mechanism by which an optically pure sample of piperitone (ot - -312% is
converted into racemic piperitone on standing in a solution of CH,CH;0  Na'/EtOH?
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b} What is the mechanism by which menthone 15 converted into a mixture of menthone
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13, (10 pts) When meta-nitrobenzaldehyde undergoes a Bayer-Villiger oxidation, meta-
mitrobenzoic results. What is the mechanism?

m-NO-CeHWCHO + CaHaCO0-H = ar=IN0=CH OO, H
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